s =REGMIRUASH

alko

e —RABRIA T4+ 7S @730 H=20
=T Lnys L3 £=0.5

@ /o0 /o0 @ /o0
@185T ' 12D T o T TIPS T Pleo
o \ﬁﬁf' L | \ﬁw | \ﬂwf__\| a

Hoo B5A4T4275 HaEsS | WS1000

B4 ERMEE R | S=1/2




s =REGMIRUASH

alko

100 cU
|
L)
QU
S
AED—+—OA : B
IS N SRRERY (7,55 @750 H=P0
£ 5=y LR £=0.0
— > >|<
— == [ _
e —
! 125 ” | e1p9

feiz 2 C—100X00X20Xe. S (Rl T %)

Hoo B5A4T4275 HmES | WS100 !

B4 -5 - (ABE) R | S=1/2




!;Eﬁﬁ!l*ﬁﬁ%ﬂ

alko

Y —RABRIA T4+ 7S @/00 H=20
ho—=AL A5 LR £=05

@leo ' ' 125 BB - -S4 BRI
X
| |
N : @5 @ -
S S
N
i3 : C-100X50X20X2.3 (BlpIH) -
L)
QU
S
100 20
Wi Y4748 Ma&Es | WS1002

B4 - - ($6E) R | S=1/2




=REMIENASH
saI'IKO BiR : ATk 17
sA IV L kB YEP
-~ e w
) P
- = —
=
<
[:;%\\\E%mwzgmmm
— TINNEP
e —RAARY AT, 7S @750 H=20

5= Ay Lk £=05

hEE—RAARY A7V 7S /050 H=20
hS=HN A0S Lk =05
TENNEP

gy ERM

Hoo B5A4T4275 Bm%ES | WS1003

B4 BiR - B R | S=1/2




s =REGMIRUASH

alko

703350 GIRTE) %%ﬁ

7V I Bl TE)

%XV
PAAY : BRI L !
s |
gheE = RABRY A7V 7S @750 H=P0 !
o =H LAY 5 LR T=05 |
Wi 45740798 NiEEs | WS1004

B4 o1 e (REE) R | S=1/2




=REMTEKASH

alko

JEE —RAAERIA T V7S B/30 H=20
- LAy Lk =05

b U e SV 7V3i3A1 RlgIH)
Ha XK : Bl
@120, 120 e @120
| | | | | [ e
i ‘ i & —_ /ﬁﬁjiﬁ %J i N
] ] :ﬁj ] jQ — QQ | L I =
n e
BOEELGE : C-100X00X2P0X2. 3 (AR T $)
Wi H4574 78S HaEs | WS1005
(i Hy o1 g (EEE) mR | S=1/0




